%& E-MC #@m

ARG #EORE —
QSC: B TR 06:1/8"
(BEZR) 08:1/4"
10:3/8"
15:1/2"

K
e

i ()

Ul

FRKE

ZUo

iT5:%0]: QSCRIBAMTRE, HEORA1/4", GF,

HERPH#%: QSC-08

S QSC-06 QSC-08 QSC

10 QSC-15

IENR TS (40 p mL_EFERFIEIE)

TIEEH(MPa) 0.05~1.0

F{KMEF (MPa) 1.5

IERE (T) -20~70

BEEORZ @ G1/8 G3/8 G1/2
oksiEs P2A  0-350 0~860 0~1650 0~1900

& (Umin) AP  300-450  760~890  1320~1650 1610~1990

Ei() 33

QEEFEEPTF . NPTHF A ik,

128 119

1.EMEEATRES,
2EMBERE ERFE
3HSTR S ZATETSEMETERE.

i
SR 2R
LEREE

2

]
DA77

©CON® oA ON =
o
(&)
B

-
o

& (L/min)

& (L/min)

1000

%]
1=

QSC-06/08 P—Aj &% £k (# S E10.6MPa)

BERE (RBER) ’3‘ E-MC

2 | #s | A [ B [ C | D | E [ F [ G | H]J
QSC-06 22 32 20 25 43 46 51 15
T . QsC-08 26 23 27 43 51 57.5 18
K i Qsc-10 35 30 35 5.3 62.5 71.5 26
- Qsc-15 35 30 35 53 62.5 715 26
20 |k [ L __[MI N _[ O |
S RE : QSC-06 85 M5X0.25  M12X0.75 14 - —
y | 29 QsC-08 133 M6X0.5 M14X1 17 - -
\ QSC-10 165 MBX0.75  M16X1 24 M4X07 18
‘ Qsc-15 165 M8X0.75  Mi6X1 24 Max07 18
| _
A
B

QSC-06/08 APt &4 i £ (i £ 710.6MPa)

QSC-10/15 PATEE#1 i1 (1 SEF10.6MPa)

{ascoslr—=—
" ..——"/
T
[@sc-08]
<
£
- —
- [@sc-06] L———TT"T
L L
/ —— 7 L1
[QSC-06] A al
|
A L]
4 5 6 7 8 9 10 1112 13 14 15 16 17 18 19 20 01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
TATIRIEEE S (N) TITRIREEEL (N)

QSC-10/16 A—Piit B4 ih £k (i < E 510.6MPa)

QSC-15 [GQSC-15] —|
—
< —
QsC-10 =
{ iy £ —[Gsc-10]
5
- |
el
ES
—_— |
2 3 4 6 8 9 10 "o 0 1 2 3 4 5 6 7 8 9 10 1" 12
VAR (N) RIS (N)



Qs %31

P1 P2

s L

ZHRE - BEOR — FERE —BARMESHRGEHER BEMER—LER,
‘ ‘ BERMOBEEGRET RIFNFE, NMELFH
Qs:#id 06:1/8" =H: G TREA RGO AL
08:1/4" P: PT
T: NPT

iTH %G QSRIRE, EEORZA1/4", GF,
HERP##4: QS-08

FS AR

TENR ZR(£40 u mLEIERIEIR) 1 ik
I{EEF(MPa) 1.5~0.8 2 IR
B A E S (MPa) 1.2 3 s
IfERE (TC) -20~70 4 ORUFR
BENZ 0 G1/8 G1/4

REZER Pl 700 2300

& (Umin)  po 500 1700
EE() 45 85

QEEFEBPTH . NPTHF A #hik#E,

QS-06 24 10 1/8
Qs-08 35 50 645 275 35 22 13 1/4
B
A 2-9C F
|
I |
‘ 3-H
dal

=1
l:t::‘
=1
|
D
E
| %
Lel]




E-MC

QSC Series

Series No. Portsize —  Threadtype
QSC:Flow control valve  06:1/8" Blank: G
(precise type) 08:1/4" P: PT
10:3/8" T: NPT
15:1/2"

Order sample:
QSC series flow control valve, 1/4" port size, G thread,
the ERP code is QSC-08

[ Specaton

Working medium Clean air(After 40 p m filteration )

Working Pressure (Mpa) 0.05~1.0
Guaranteed pressure (Mpa) 1.5
Working temperature (C) -20~70
Port size G1/8 G1/4 G3/8 G1/2
ratedflow  P—A  0~350 0~860 0~1650 0~1900
(L/min) A—P  300~450 760~890 1320~1650 1610~1990
Weight(g) 33 50 128 119

@PT thread, NPT thread is optional.

Flow control valve (precise type)

1.Compact structure and high precision
2.Install in several positions to facilitate ,installation and application
3.Apply to exhaust and cut off flow, widely used for cylinder speed

adjustment

-u Structure

Name

Valve body
Diaphragm
Throttle body
O-ring

O-ring

Throttle sheath
Fixed nut
Throttle column
Lock nut

Adjustment cap

‘o‘coouxlmmbwm-xa

Flow control valve (precise type)

E-MC

QSC Series

{,,f+f7
40
| | A ] B | Cc [ D | E | F [ G [ H]
QSC-06 22 32 20 25 4.3 46 51 15
~m QsC-08 26 36 23 27 4.3 51 57.5 18
T K Qsc-10 35 50 30 35 53 625 715 26
<¢LM QSsC-15 35 50 30 35 53 62.5 715 26
20 L] J ] Kk [ L (M| N [ O |
I : s QSC-06 85 1/8 M5X0.25 M12X0.75 14 — —
> | 29 Qsc-08 133 @ 14 M6X0.5 M14X1 17 — —
al ‘ QSscC-10 16.5 3/8 M8X0.75 M16X1 24 M4X0.7 18
© i tl QSscC-15 16.5 1/2 M8X0.75 M16X1 24 M4X0.7 18
A h
B
" Flow Chart
QSC-06/08 P—A Flow Chart (Inlet pressure0.6 MPa) QSC-06/08 AP Flow Chart (Inlet pressure0.6 MPa)
1000 1000
900
900 /
800 800 ——
700 QSC-08 0
£ £ 600
£ 600 £
3 500 5 500
- - Q§sC-06] L —+—T"T]
= 400 z 400 L:—- -
o / | o e o
L 300 [QsC-06]_~ L 30
200 200
100 — ] 100
o e o
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
Turns of adjusting nut Turns of adjusting nut
QSC-10/15 P—A Flow Chart (Inlet pressure0.6 MPa) QSC-10/15 A—P Flow Chart (Inlet pressure0.6 MPa)
2000 2100 | |
1800 2000
1900 [Gsc-15] —]
1600 1800 | —
__ 1400 _ 1700
c £ 1600
= 1200 SC £
E o £ 1500 ™ [Gsc-10]
— 1000 -
— — 1400
T
5 800 2 1300
i 600 o 1200
400 1100
— 1000
200 —— 900
0 800
0 1 2 3 4 5 6 7 8 9 10 11" 12 1 2 3 4 5 6 7 8 9 10 " 12

Turns of adjusting nut

Turns of adjusting nut



E-MC

Shuttle valve

QS Series

P1

P2

© Howtoorder

SeriesNo. —

Portsize — Threadtype
QS:Shuttle valve 06:1/8" Blank: G
08:1/4" P: PT

T: NPT

Order sample:

QS series shuttle valve, port size: 1/4", G thread,
the ERP item no.: QS-08

_ Specification

QS-06 QS-08
Working medium Clean air(After 40 p m filteration )
Working Pressure (Mpa) 1.5~0.8
Guaranteed pressure (Mpa) 1.2
Working temperature (C) -20~70
Port size @ G1/8 G1/4
Rated flow ~ P1 700 2300
(Umin) — pp 500 1700
Weight(g) 45 85
@ PTthread, NPT thread is optional.
_imension
Qs-06 24
Qs-08 35
B
A 2-9C F

T i
&1 i
7

Il

3-H

7

==
t
’J‘:::
i
D
E
| %
e ]

50

-:t Features

Usually it will not used alone, while used with the main valve
together in the pneumatic system.
Offer good assistance for the overall control of the main valve,

to better complete the control function of the whole system.

I Structure

1 2 3 4

A
?ME'.']J%V: No. Name
1 Valve body
|.ﬁl||/ 2 Sealed Ball
P1 | 5% P23 Endcover
4 O-ring

FE e = T E S

10 1/8
6.5 27.5 35 22 13

1/4




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


